KOP3WHA NS HAPY)XHOIO BNOKA KOHOULMOHEPA A= 1o= ] o

UF7

KopanHa cocTouT 13 cneaytoLmx aeTanei:

n-1-1 wr. Bont M10x25 - 8 wr.
Cl-1-1 wr. Bont M6x16 - 4 wr.
CM-1-1 wr. [anka M10 - 8 wr.
Y-1-1 wr. [anka M6 - 4 wwr.
YO-1-2 wr. [Llan6a 10 - 8 wr.
KN-1-1 wr. LLlanba 6 - 4 wT.
KM-1 -1 wr. BuHT M4x10 - 18 .
M-1-2 wr. BuHT M4x16 - 8 wr.

[anka M4 - 26 wr.
LLlanba 4 - 52 wr.
LLlan6a-rposep 4 - 26 L.

(2
[
3
“\/— bommw M6
-7
4 Burme Mex 10
Uawoa 2 wmn
[auka M
ang kpervierus brex
11aHE 1B MEXAL) Co00L
77

Burm Mex 76
Uoa 2 wmn

[ yxurHas wavoa
[ auka Mé




